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0 MDO00O000/aonoog A max max | max 00/wWo
0.8 | Axidlp 2.4lp 0.60 | AUOZA 25 | —4000150 | 13| 08 10 250 | 100 0.4 | 10/10| 0.18 | 10/20 22 | 013
1.0 | Axialg 2.7/ 0.60 | EUO2A 15 | 4000150 | 14| 1.0 10 300 | 100 0.4 | 1010 0.18 | 10120 20| 02
1.0 | Axiall ¢ 2.7/ 0.780 | EU 2A 15 | 4000150 | 14| 1.0 10 300 | 100 0.4 | 1010 0.18 | 10120 17| 03
1.0 | Axidll ¢ 4.0l 0.780 | RU2 20 | 4000150 | 15 1.0 10 300 | 100 0.4 | 1010 0.18 | 10120 15| 04
1.1 | Axidlp 401 0.780 | RU 2AM 20 | —4000150 | 12| 11 10 300 | 100 0.4 | 10110[ 0.18 | 10720 15| 04
1.5 | Axidl g 4.01p 0.980 | RU3A 20 | —4000150 | 15| 15 10 400 | 100| 0.4 | 1010] 0.18 | 1020 12| 06
1.5 | Axidl g 4.0/p 0.780 | RU20A 50 | —4000150 | 1.1 15 10 350 | 100 0.4 | 10110[ 0.18 | 1020 15| 04
600 1.5 | Axidl g 4.0ip 0.980 | RU 3AM 50 | —4000150 | 1.1 15 10 350 | 100| 0.4 | 10110[ 0.18 | 1020 12| o6
2.0 | Axialg5.26p 120 | RU30A 200 | —4000150 | 0.95 | 2.0 10 300 | 100| 0.4 [100/100 0.18 | 1001200 10| 10
3.0 | Axialg526p120 | RU3IA 150 | —4000150 | 1.2 | 3.0 50 500 | 100| 0.4 [100/100 0.18 | 1001200 10| 10
1.53.00| Axial g 65/p 140 | RU4A 50 | —4000150 | 1.5 3.0 10 300 | 100| 0.4 | 10110[ 0.18 | 1020 8| 12
2.003.50| Axidl g 650p 1.40 | RU4AM 70 | 4000150 | 1.3 35 10 300 | 100| 0.4 [100/100 0.18 | 1001200 8| 12
50| TO-220F2Pin | FMU-G16S 30 | —4000150 | 1.25 | 5.0 50 500 | 100| 0.4 |100/100 0.18 | 1001200 40| 21
5.0 | TO-220E Center-tapd| FMU-165, R 30 | 4000150 | 15 25 50 500 | 100| 0.4 |100/100 0.18 | 1001200 40| 21
10 | TO-2208 Center-tapd| FMU-265, R 40 | —4000150 | 15] 50 50 500 | 100| 0.4 |100/200 0.18 | 1001200 40| 21
10 | TO-220F2Pn | FMU-G26S 40 | —4000150 | 1.35 | 10 50 500 | 100| 0.4 |100/200 0.18 | 1001200 40| 21
0.25 | Axidl ¢ 4.0/p 0.780 | RU 1B 15 | 4000150 | 25 |0.25 10 200 | 100| 0.4 | 10110[ 0.18 | 1020 15| 04
0.6 | Axidl g 40/ 0.780 | RF 1B 15 | 4000150 | 20| 06 10 200 | 100| 0.4 | 10110[ 0.18 | 1020 15| 04
0.6 | Axidl g 40/ 0.780 | RH 1B 35 | 4000150 | 1.3 06 5 70 | 150 4| 1010] 13| 1020 15| 04
800 0.7 | Axidll g 4.0/ 0.780 | RS 1B 30 | —4000150 | 25 08 10 200 | 100 15| 1010] 0.6 | 10120 20| 04
1.0 | Axiall ¢ 4.0/ 0.780 | RU 2B 20 | 4000150 | 15 1.0 10 300 | 100 0.4 | 1010[ 018 | 10120 15| 04
1.1 | Aial ¢ 4.0/p 0980 | RU3B 20 | 4000150 | 15 1.0 10 400 | 100 0.4 | 1010| 0.18 | 10020 12| o6
1.53.00| Axidl ¢ 650 140 | RU4B 50 | 4000150 | 1.6 | 3.0 10 500 | 100 0.4 | 1010 0.18 | 10120 s| 12
0.2 | Axidl g 40/p 0.780 | RU1C 15 | 4000150 | 3.0 025 10 200 | 100 0.4 | 1010[ 018 | 10120 15| 04
0.6 | Axidl g 4.0/ 0.780 | RH1C 35 | —4000150 | 1.3 06 5 70 | 150 4| 10m0[ 13| 10220 15| 04
1000 0.8 | Axidl g 4.0/ 0.780 | RU2C 20 | —4000150 | 15| 1.0 10 300 | 100 0.4 | 1010|018 | 10120 15| 04
1.5 | Axidl g 4.0l 0.980 | RUSC 20 | —4000150 | 25| 15 10 400 | 100| 0.4 | 1010] 0.18 | 10/20 12| o6
1.5 2,50/ Axial g 65/p 140 | RUAC 50 | —4000150 | 1.6 | 3.0 50 500 | 100| 0.4 [100/100 0.18 | 1001200 8| 12
1.0 | Axial g 4.01p 0.980 | RH2D 60 | —4000150 | 1.0 | 1.0 10 500 | 100] 4| 10110 1.3 | 1001200 12| o6
1300 1.21.50| Axidlo 65/p 140 | RU4D 50 | —4000150 | 1.8 15 50 500 | 100| 0.4 [500/500] 0.18 500/1000 1.2
1.5 2.50| Axidl ¢ 65/p 140 | RU4DS 50 | —4000150 | 1.8 | 3.0 50 500 | 100| 0.4 |500/500| 0.18 500/1000 1.2
0.5 | Axial g 2.7/p 0.60 | ESOIF 20 | —4000150 | 2.0 05 10 200 | 100 15| 10110 0.6 | 1020 20| 02
0.5 | Axidl g 2.7/ 0.780 | ES 1F 20 | —4000150 | 20 05 10 200 | 100 15| 10110 0.6 | 1020 17| 03
0.8 | Axidl g 4.0/p 0.780 | RH 10F 60 | —4000150 | 1.0 | 1.0 10 500 | 100] 4| 1010 1.3 | 1001200 15| 04
1.0 | Axidl g 4.0/ 0.980 | RH2F 60 | —4000150 | 1.0 | 1.0 10 500 | 100] 4| 1010 1.3 | 1001200 12| o6
2.0 | Axidlg 526120 | RS3FS 50 | —4000150 | 1.1 3.0 50 500 | 100| 2 |100/200| 0.8 | 1001200 10| 10
2.0 | Axidlg52lp120 | RP3F 50 | 4000150 | 1.7 | 2.0 50 500 | 100| 0.7 [s00/500] 0.3 00/1000 10| 10
25 | Axialg526p120 | RH3F 50 | 4000150 | 1.3 ] 25 50 500 | 100 4 [100/200] 1.3 | 1001200 10| 10
100 | L9250 Al 659 140 | RS4FS 50 | 4000150 | 1.5 3.0 50 500 | 100 1 [100/200] 0.4 | 1001200 g8| 12
2.5 | Axidlg 6.5p 140 | RH4F 50 | 4000150 | 15| 25 10 350 | 100 4 [100100] 1.3 | 1001200 s| 12
50 | TO-220F2Pin | FMQ-GLFS 50 | —4000150 | 5.0 | 5.0 50 500 | 150| 0.7 [500/500| 0.3 [500/1000 40| 21
10 | TO-220F2Pin | FMQ-G2FS 50 | 4000150 | 28| 10 50 500 150j0] 0.5 [s00/500] 0.2 0011000 40| 21
10 | TO-220F2Pin | FMU-G2FS 50 | —4000150 | 1.6 | 10 50 | 6000 [150T0| 0.6 [500/500| 0.25 |500/1000 40| 21
10 | TO-220F2Pin | FMQ-G2FLS 50 | 4000150 | 18| 10 50 500 [150Tj0| 1.2 [s00/500] 0.4 00/1000 40| 21
10 | TO-220F2Pin | FMQ-G2FMS 50 | —4000150 | 2.4 | 10 50 500 | 150| 0.5 [500/500] 0.25 500/1000 40| 21
10 |  TOS3PF2Pin | FMQ-GSFMS 50 | —4000150 | 2.4 | 10 50 500 | 100| 0.5 |500/500| 0.2 [500/1000 2| 65
10 | TO3PF2Pn | FMV-GSFS 50 | —4000150 | 15| 10 50 700 | 100| 2.0 [s00/500] 0.8 500/1000 2| 65
1600 25 | Axidlg52lp 120 | RH3G 50 | —4000150 | 1.3 | 25 50 500 | 100 4 [100100] 1.3 | 1001200 10| 10
1700 10| TO3PF2Pn | FMQ-G5GS 50 | —4000150 | 2.7 | 10| 100 500 | 100| 0.5 [s00/500] 0.2 [500/1000 6.5
[ 80| TO3PF2Pn | FMP-GSHS 50 | 4000150 | 20| 8 25 250 | 100| 1.0 [s00/500] 0.4 500/1000 6.5
10| TOS3PF2Pin | FMR-GSHS 50 | —4000150 | 1.6 | 10 20 200 | 100| 1.8 |s00/500| 0.7 500/1000 6.5
2000 0.2 | Axidl g 40/ 0.780 | RC2 20 | —4000150 | 20 02 10 300 | 100 40| 1010 1.3] 1020 15| 04
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